111-030 14 9
)
)
)
(
(a/cm®) | 2.794 [@D)
-1 ( ) 20.2 ca0| 38| 37.9
2.7 S0 53.6] 53.3
7 (20 65 ) 65.8 Ig.loss 7.9 7.6
31.5 6.9 6.3
60
35.8 1167| 5278
( GY ) 19.3) ()
( BC )
SB : ;
' ., pH
1 L444444;444444}47
140rpm, 1
(JS A 1210 (20 80%)
—— '
-2
;728
12cm 19cm 24cm
-2
pH
JS A 1210 gc 200kN/
( [ 1) 2)¢ 10cm,H=12.7cm
3)¢ 10cm 4)¢ 5Scm,H=10cm
30 5) 6)
pH 58 § o ‘{
15
8.6 @) 0 ?8 ( )3
(kg/m
gc  400kN/ ) ; ) 30 | 60 [120]180[ 240]300
01 10 100 39.5 GY
39.5
T 37.0 | ov BC sB
) 43.0 )
26.0
104-8388 1-7-1 TEL03-3535-6305

-59-




111-030

-60-

57 14 9
1000
395
800
(D] -3 395 GY A 25
B AN _//1&
GY } 400 \ o 50
200 0. 0O
GY 1 50 ==1EQ
25 0 0.
-4 1 3 qc
10000
gc 400kN/ 30 240kg/m .0
S 1000 _
2 ‘; 400 ..4.._/._ - __39,5)
1 1 =37.0 ;ﬂ//’(/z:%.o
100 =
-5 1 1 (qcld/ gclh) O/
10
0 50 100 150 200 250 300
kg/m*
-4 qc
12
10 ‘
2 H $ 492/528 1 s
(©)] -6 510 : S E o &N/ ) No.
E A No.
o A 0 B2 )\O\ 406/82.
GY a . 29.0/443 \3
326/723 \'
o 20 30 40 50 o 01 1 10 100
(4) p -7
GY
BC SB
BC
-8 p
7 p 28
SB 10 100 1000
kg/m®
p 7 BC( ) 8 o
30
1) , 54 ,Pp.524 525,1999
2)

,pp.143  149,1996.9



